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1 @—HEHFHORIHMF: 8cmx10° #umx 3 x 10° am , HiEH4
HR%4Pdm’ ?
(b2 — S EmEE M 4 T 5000 kcal AyHER UG it Ae BéE X A8
&% Btu?
)M E & 3 1bmay Y BESE 200 in/s*HIRE, MABEFS V4 IE
- Bh?

W @V=(8cm)x (10°#m) x(3x10° nm)
=(0.8dm)x(1.0dm )X (3dm)
= 2.40 dm®
1 kcal =4.1868 kJ
1 Btu = 1055.1 J = 1.0551 kI
5000 x 4.1868
_ ~ 1.0551
©m=3 lbm= 3 % 0.4536 = 1.36 kg
a2 =200 in/s® =200 x 0.0254 m/s® = 5.08 m/s?
>F=ma=1.36 x5.08 =6.91 Nt

= 5000 kcal

=19840,77 Btu

2 LFH#FEHTLURRMS BN (LFCERR) .
 @I0"EEF WI0*EMET ©10'EEFME3 X 10 WET
,AmE10°BEF.
M @Q=10" x1.602 x 107" x 10" = 1602 {C
10-2 '

(D)E?@&:W: 1.1x 107 {@

2Q=1.1x10" x (= 1.602x 107" } x 10'® =~ 1762 {C
©Q@=10"x (~1.602 x 107* ) x 10" +3 X 10° x 1.602
C x107" x 10"
=— 1122 fC
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TEERSITHR

(%P FREHE)

Bi-6@)b, ERi, ()MADIE : 5e* A, Et<0 ;5" A,HE
t >0k

@i, (0.25)

byi, (1) HGER—0.25s <t <0.25 s hHPFHEMRME
COFEM—0.25s <t <0.25 s, HEEE (HEEH ) EEM
@i, (0.25 ) =5e " "* =5 ' =1,839A

- l 0.25
(b} i, =— )”f iy(t)de

0.25-(C—=0.25) J o

0 0.25
:f S5e¢tdt +J- 5¢e *dt =1.58 C

TR 1-9©@h v, (¢) =100 cos250¢t , XK :
@o, (1ms) Mo, (8ms) ©fF t=4dmsk, H4C HEHH
EKmBREa v, WESLER .

@v, ( 1ms ) =100 cos ( 250 X 0.001 ) .\
~06.9V L oy (1)
o, (8ms ) =100 cos ( 250 X 0.008 ) -
- 41,6V
© v, (4ms ) =100cos ( 250 X 0.004 ) =54 v W19
Q=4C

SEMBA-mRE+m, HEENERR !
E=—Qu,=(~-54V)x4C=-216]

RLUTHDR :



¥--F EREEL 3

@ERER 1-12@PTHEMAHR( ¢t =0.8 s ), *
(b}l 1-12 )+, THAELHDER o

HEw, HEEn %5 600 m/s
@y HEREHmiles/hr ,
Db AR TFEVER ( LEFRR) , THEMNFHEREDER

P -nv
©E1-12(iHh , Ft =08 , BETIHMRESHE , Jsta
@P=vi=5(1t"-2)Vx5.1A @ -

=50(0.8)"~2) Vx5 1A=-3468W HomAr—
MP=vi=7.2Vx 110 mA =792 mW - +
, (5 72V
©) ¢t = O”%
2.5 cos{1207e - 2%/3) A
. -2 —
i=2.5c0s (—S-)A=-1.254 UL
©) 23 cos 120ms kV
v =23 kV
Wi-12
S>P=vi =—28.75 kW
R 1-19 8948884, RUETLHEHBRBEHE o
‘A zv+6
—— @ - @ —
" -
® 25V _hA ®
20v SVI:J(:D:]“, 1.54,
+
rt“ joa W1-19
MO : P=20VX{—4A)=—80W
KM@ P=25VXx4A=100W
T P=5Vx2A=10W
THD: P=2Vx(-6A)=—12W
TG : v=1.5i, =— 3V
SP=—-3VX6A=—18W
.HH
—EEERTN ERRSE, E80 kg , MAEH—EMKES250m @
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(CPLHE R af LS 100 mWHYE T2 E B AL A 7
(i HE .35 B9 e K B8 ] 9
(@ 1 mile = 5280 ft = 1609 m
600 m/s = 600 x —1— mi x -—— —{ ——
’ 1609 { 1/360¢0) ) h
= 1342 mi/h
i f s mph v 8D < 9.8 x 250 = 196 k]
10 mW = 1T W
B A
A R L

Tt T A6 010" s = 54d.4 h =22.7 days
3 i,

w70 e A ORI A ) K 24 /0BR BRI IE TR E 120

W AT R R 75 W o R M (EER 10 mi/h ) BeHY

[ EEIRER LILGR 975 230 WR 1000 W

@ 10 mi/h g9 REPE , BN RAERSLVED (hp ) ?

b5 - W EOE IR B R 100 keal , B —FK % HS 0 Y M 5 —18
FUN: BT X ‘

W @1 hp=745.7W

= 1000 W =1.34 hp
(DHEFRRE & — AR ERE ¢

T W X 3600 x 24 sec = 6480 kJ = 1548 kcal

1548

"1‘60—: 15.48 (ﬁ)

ALk, KF9F 15,48 REVRMTEER , TEERF—BEEAN—KELSE
ﬁ o
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(b) B2 AR a8y i BE 2 50 1bm /f ¢ ' AEEMMATES 18500 Btu AyME
s IS D AT RN F SEGE R K E— /B 7




Ho% REEEM S

B @5.2 kW=5.2 % ;o hp 6.7 by

B)5.2 x 107 x 3600 =V % 30 x 18500 » 1955.1
SV =0.0192 ft° = 0.0192 x 28.32 1 = 6,545
(1 £t° = 28320 em® = 28.32 1)

4 AR b, ST T Gl LR R B A e
t<~4 s ,qg=0 -4t -2, =41 -16; -251 41
g =2t LTt <6,8-6¢1 438311426, q¢= s 4l
(@) & il g — LBEER I
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6 IRBBHNHEME

t<{—4
-4 <t <=2
4t -2<t<1
= i(t) =9 -
—2'7_:[:—3" I<t<L6
0 6t

(BB : A) (BHEEL: S)
5 i —tMERE(E1-20) , 5 SHEEM—-2< <5 s ZAMBE—

ZEBMNBEN . i(A)
d T
: 51 4 1¢f
" qzj_zzdt T 1579
= ( EEHEREE R ) /f
— (5T HM R TR ) .Z%/ A+ T
[sxaates 2T TN *
B 2 8 i /
._3- _______
[—x3x—+3x]]:15c 1 B 120

6 HEE1-21WBRERS , LEIHE Sms
@FHBEMMERS VT
LB 1 <t <4ms ZNEBTSVER?
©ME (0) =0 , il q(t) MER, 0t <12ms o
i(A)

10




- THEREJ
4 q(mC)
30t
20}
104
s 7 10 > ¢ (ms)

4

(bt g :f idt =10 —-12 =—-2mc
i

[

(€ qg(t) = q(0) +f idt

[

1 HR-FEESALNEEMG (F1 = ~0F| ¢ 20, TSGR TR
ga(1) =100e 2" cos 500 mC
(@fF ¢t = 1ms=®) ¢t =2ms Z2H, EEVEMHTIRAS?
bt =1mshk, HIRABHNBER SV ?
CEDHR AN ERBERD i(2) =2 (e — e ™" ) 4, fAll#¢
=10 s E)t =80 pus 2}, BEHLVEMALAR?
W (@ ga(t) =100 e ** cos 500 ¢ mC

>Aqa=¢gs (2ms ) —ga ( 1ms)
=100e " cosl —100e %% cos 0.5
=36.2-71.8=—-35.6mC
. _dqa(i)
b)IA(t)— dt

=— 20000 e~ *** cos 500¢ — 50000 e~ " sin 500¢ mA
i«(1ms) =—2000e"%cos 0.5 — 50000 e %t sin0.5
= 33990 mA~34.0 A

80pe 8% 102
(C)q :f 1dt :f 2 (e—soom _ e—aooo. ) dt C
10—°

1010

=13.41 x 107°* C=13.41 ¢C
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8 TERRSHFH

8 GEWW 1-224, —HBTHMRILDE

2 4A St? A
~10V 0——‘——%0
v - + + -
O'—MN-_::"O 6D‘,V nvV
2A
A 3A v, =05V t=-15s
(a) ib) (@] )
B1-22

M @P=(7V)x(—-3A)=—-21W
BP=(-10V)x(-2A)=20W
@©P=(6v:s )X (—4A)=6x0.5VX(~-4A)=-12W
P=(2tV)x(5t*A) =2x(-1)Vx5x(—-1)%A
=-10W

9 HHEI1-108BHt, Bi=4e ™A, v=20-30e""V,
AILERITHEL =10 ms 15, HBREHRD %S ?
()R O < t Joorh , HHPEBRERF IR ?

B @P(t) =o(t)i(t)

=(20-30e )V x (47" )A 4
=(80e*™ —120e """ )W
>P(10ms ) =80e %* — 120e™"°

=48.5—-44.12 =4.38 W
Ei-10

(b)E:foo P(t)dt :foo(SOe_”' — 120 ¢~ '™ Y dt
80 120

:E“‘*l“aa =0.4]

100 $EI-21WEFAEA—HEN (H) H, MEBBOEES
v =20sin400r ¢tV
@B REE A, HRBREERKOBRKYER? EEKRDIESBEBM ?
(TR B K RRES D T W R A7
OABMO<t<5msh , HHPHERBWRFHEHTH?



H-% FRREL 9

(Y 4 98 T f4- (9 T E3 Th R 2
M v =20sind00zt V30 (t)BREIE S5ms (| /(2) BYEITHER )
CP(E) =we(e)i(e) SoP(E) HBBURE 5 ms
@< P(t) BAMNE (T =5ms )
SHESHPU)HFEO Lt < 5msBRAMEAN
1@ 1-21 497K s K2 ol LUE
P(t) =200sin4002¢tV x 10A
= 2000sin4007¢t W for (0 <t<2ms
P(t) =200sind400 1t VX (~6A)
=-1200sin400x¢t W for 2ms < ¢t<5ms
RLLEnfa, % ¢t =1.25msB, P(t) 5B AME2000W
XP(t) BROXRE, &, &
t=(5k+1.25) msB§, k=0,1, 2, -
P(t)YmMEER 2000 W
bh@ZHASRTD , HEROLBARNDIRE
P (1) =-2000sin400x¢t W for 0O0<t-I2ms
P'(t)=1200sin400 2t W for 2ms < {<5ms
#Ht=2mshy , P(t) =1200sin0.8a = 705.3 WE R kKM@

ME:f mP(Udt
0

:f 2000 sin 400 ntdt +J. 1200 sind400x td¢

¢ 2me

=3.62 1]
(d) P ‘-LJFTP(t)dt"—l—:fsm‘P(t)dt
T o "~ 5msJ

1
. .6 = W
0.005 (3.62) =724

L EEi-10, Ho =211~ 8L+ 6V, MGHTHNRKHRS P =
Dt -6t +11t-6 )W
@FF:t=1sBt=3sh, FEPERERITHRBTH"T
Dt = Us Bl ¢ = 3's WEM+ , H5PRERTRESH ?
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e

i2

M

3 3
“”E:f P(Udt:f 4 (1 =682+ 11t —6) di
1 1

]

:(t‘~8f3+22t2<—24t)!?:0 e
r fl
MP(E) =4 ( ("6t +11¢4—6) omd
=4t -1 (t=-2)(t=-3)W W1-10
p(t) =2¢°- 8t +6=2(t—-1)(t—-3)V
P({?t
=) = (

—— =2 (1 ~2)
I)K!,l

3 3

:;o:J- idi J 2(t-2)dt =0
. 1 !

el 1-23 sy LB TR, IR AR EE AR (b k)
AL JC PR Frid g h BB RS 0 &

A

-8 A

"R . +@‘l
20v(™ ) sV
|3a @ ‘Cj i5v C:jo

i
h AT 94

()

+
v

-5V

\

F1-23
EHELD Po=(20V)Xx {3A) =60W
D Py=(- 5V)x(3A)=-15W
THG Pr=(15V)x(—4A)=-60W
THE@ P =(15V)X(9A)=135W
THE Ps=(15VX(—-8A)=—120W

Z Pi=60-15-60+135-120=0

k=1

B LRSS E M, THORTHOREERLE , M LA ML IRE

NR 0

R 1-247 , AEHEREE—THOHDER

\t’:,'



H-& EERMM D

= -
A nl
* - + i
8v CD@ MO 4VC>@ -4v
T4 * -Tua @
f2a +
B 1-24

WM OO P, =(8V)X(—4A)=—32W

TH2 P,=(—-8V)X(2A)==16W

T3 Ps=(4V)X(6A)=24W

LD Po=(4V)x(14A)=56W

B Py =(—4V)x(2i:)=(—4V)X(2%x4A)
=—32W

4 110, 40 =20e"" V , RIAMTHE t = 4s BORKD
K.fmi=:
dv ¢
(@0.1v 0.1 (C)O.lfovdt+5A

iﬁ-} (a)l :O_lv :2e—0-2¢ A
jp(t) :U(t)t(t) :_402—0.“W
>P(4)-=8.08W

dv
By i(t) =0.1—=-—20. ~0.2¢
) i(t) 0 ldt_ G.4e A

SP(t) =v(t)i(t) =—8e " W
>P(4) =—1.616 W

(C)f(t):O.l'f vdt+5A:O.lf 20e "*dt +5A
¢ 0

== 10e™"* +15A ‘
SP)=v(8)i(t)=—"0e " +300e "* W
>P(4) =—40.38+1.:.80 =94.42 W



